DCG412 SMALL ANGLE GRINDER 1




Parts List for DCG412 SMALL ANGLE GRINDER 1

Item Part Number Qty Part Description General Description Other Info  Repair Inst Markets
1 N115615 1 CLAMSHELL SET XR 18V No

2 652479-00SV 1 ARMATURE SA INCL 3.,4,5,6,8,10 No XE
3 330003-60 2 BEARING 8x22x7 No

4 623564-00 1 PINION 9T No

5 604484-00 1 NUT M6 No

6 631563-00 1 BOOT No

7 N171820 1 SUPPORT BEARING No

8 623617-00 1 FELT SEAL No

9 640579-01 1 BAFFLE FAN No

10 623580-00 1 RETAINER No

11 NO042060SV 1 GEARCASE SA No

12 623562-00 1 GEARCASE COVER No

13 623618-00 1 GASKET No

14 330065-13 4 SCREW 4x30 No

15 385676-01 4 SCREW No

16  N129056 1 BUTTON LOCK-OFF No

17 N147707 1 RATING PLATE XE No XE
18 N139498 1 BRAND LABEL No XE
19 N165761 1 SWITCH SA XE No XE
20 611202-00SV 1 MAGNET No

21 NO039878 1 GUARD SA 125mm - Type 27 No

23 633257-00SV 1 INNER FLANGE SA INCL93 No

24 622613-02 1 OUTER FLANGE M14 No

25  330019-25 1 SCREW No

26 330019-04 6 SCREW M3.63 x 19mm No

30 610126-00 2 BRUSHBOX SA No

43 N102647 1 SPRING No

44 N122099 1 BLOCK No

85  631609-03 1 SCREW M5X0.8X 18 No

85  631609-03 1 SCREW M5X 0.8 X 18 No

87  401680-00 1 WRENCH No

88  N401305 1 SIDE HANDLE No

92 633045-00 1 O RING No

Page 1



Item Part Number

93
94

99

800
861
866
871

633043-00
N033051
N042787
870889-02
N132422
N126188
N126190

Parts List for DCG412 SMALL ANGLE GRINDER 1

Qty Part Description

1
1
1

O RING

SCREW

GUARD SA

GREASE 90 GMS

KITBOX

BATTERY 18V - 3.0AH - 54WH
CHARGER 10.8V - 18V

General Description

125mm - Type 1
Paragon EP 1/2

Li-Ion - DCB180-XE
DCB105-XE

Page 2

Other Info

DCG412L2

Repair Inst

Markets

XE
XE



